
���( 3458� +2,6C� =G.�,6�"%�&C���	.:?-F� A>*�

�

�� QGO�J
5E^C�K?�('�
^C[H_�BY?I�K?�('�
N4>H
_ T/�'� ��5E�����QGO�5EO�a�BY
GS���':6�N

4>H_��' �

 
�� #!%$ �%�(D+,6 2 CH3) � CH3CH3 9@<;C3A902��� 
(1) ZAA �:6�7�XR
d8,+.-�('�" 1/2 �1I
��	%  
(2) XRP[�$'bC9=�P[2��(1) $& 1/2 �1I*�
�� 

1
2
σNA

8kBT
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2
π •(0.308×10−9  m)2 •(6.02×1023  mol−1) 8 • (1.381×10−23m2  kg s-2  K-1) • (298 K)

π • (15×10−3  kg mol−1) / (6.02×1023  mol−1) / 2

= 8.23×107 m3 mol–1 s–1 = 8.23×1010 L mol–1 s–1  
��
�� P = 2.4×1010/8.23×1010 = 0.29 
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